AFD Maximum Carriage Load Calculations — Ball
Bearings/Heavy-Duty Roller Bearings

AFD310/70/1000
W= Maximum Force (M) [max. applied force + process equipment weight]
D= Load Owverhong distance [mm) 1lbf. =4.45 N
L= Bearing Load [M] Tin. =254 mm
EB: Concenfrated Load Posistion 1TH=0.102kg
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AFD620/80/1100

W = Maximum Applied Force (N)

D = Load Overhang (mm) 1 Ibf. =4.45 N
L = Bearing Load (N) 1in.=25.4 mm
& = Concentrated Load Position 1 N=0.102 kg
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Standard Ball Bearings:
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AFD1240/90/1200

W= Maximum Applied Force (N)

D = Load Overhang (mm) 11bf.= 445N
L= Bearing Load (N) 1in.= 254 mm
p= Concentrated Load Position 1N=0.102 kg
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Heavy- duty Roller Bearings: By
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Standard Ball Bearings:
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